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Field Return (FR) Examples Field Return (FR) Examples

7 FR Examples 7 FR HE 5
7.1 Basic Calculations 7.1 EAH RG]
Example 7.1-1 i 7.1-1
Each month the reporting organization reports the FRU return measures for the A, () BT, 20 ICZ TR T R CTORMLEE ORI KR CHFICH 5 2=y MBI LS
month based on all returns received during the month and the field population of T, B A2 = v FOIREFRAEMHEEZRET 5, ML OREIT., ==y FORIEERIZILE U T3>0 E 7
units at the end of the prior month. The returns and population numbers are split DT N—FITHEEND, Fl2IE, 2010410 Fiz, == ME$186,914H D5, 355 DI L E 5T B~
into three separate groups depending on the age of the units. As an example. FrF5. 3BSEOELD S B, 153MHIT Y A = 7137 06, ABICHET SN bDTh s, Sz, 153

suppose during January 2010 there were a total of 355 returns received out of a
total population of 186,914 units. Of the 355 returns, 153 were shipped during the
month or the prior six months. In other words, 153 of the units were shipped on

2= MI20094E7 H1H UBEICHfr SN2 b O TH 5, [AERIZ, 163 O XD D HAu 577 A 5184 A
B L=, BlH, 200847 H1H 75200946 H30H OIcHifi SN7=bDTH S, 2D L, #%V39>2=v I

or after July 1, 2009. Likewise, 163 of the returns were 7 to 18 months old having ﬁ§209§$?ﬂ 1R D (ﬁﬁ%:tﬂﬁéj’l:f::l:oy ka)ﬁgﬁﬂjﬁ%ﬁ#%@ﬁﬁﬁ% %1: LERLTRS, MULD F:‘
originally been shipped between July 1, 2008 and June 30, 2009. This leaves 39 HRTRILIL, 30oDRMBIEI O 7 L — T aEI SN D, ZOFIT, MR O EA Th HERI, YRREULTR
units returned out of the long-term population, which are units shipped prior to DEINEINS7,288, 99,626, K 130,000=> LT 5, ZOHDOT—F52RIZELHDDHELUTOLIIZD,

July 1, 2008. Similarly the total population humbers are split into the three age
groups. For purposes of this example, let us set these at 57,288, 99,626, and
30.000 units respectively for the ERI, YRR, and LTR subsets of the population. In
tabular form the data for the month is:

ERI YRR LTR &5t
ERI YRR LTR Total i 153 163 39 355
Returns 153 163 39 355 H AR 57,288 99,626 30,000 186,014
Population 57.288 99.626 30.000 186,914

fERE LT, M OFEMIT,
The resulting calculations for the month are
20094FE7 H 725201041 A & T HifF 2> B DI L
LR S FERE= 100 x 12 x

Early Returns from units shipped Jul-09 through Jan-10 o
Return = 100 x 12 x 200947 H 72 52009412 H £ T O Hififit ik
=100 x 12 x FRri/FRsi
Index Total shipments for Jul-09 through Dec-09 =100 x 12 x 153/57,288
= 100 x 12 x FRri/FRsi =3.20%
= 100x 12 x 153/57288
= 3.20% 200847 H 7> 5200946 H £ T Hifif /> b Dl in i
IR =100 x 12 x
One-Year Returns of units shipped Jul-08 through Jun-09 200847 7 725200946 7 & T O Hifif 4L
Return = 100 x 12 x = 10012 x FRry/FRsy
=100 x 12 x 163/99,626
Rate Total Shipments for Jul-08 through Jun-09 = 1.96%
= 100 x 12 x FRry/FRsy
100 x 12 x 163/99626
= 1.96%
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200846 A £ CTO b DI S

Long-Term Returns from shipments prior to Jul-08 EWR S =100 x 12 x
Return = 100x 12 x 20084:6 H F£ T i Ek
Rate Total Shipments prior to Jul-08 =100 x 12 x FRrt/FRst
= 100 x 12 x FRrt/FRst =100 x 12 x 39/30,000
100 x 12 x 39/30000 =1.56%
= 1.56% IS DGR ZE ~ 7o, FIZFEMZRB 2 LI T D7.2 8 073127587,

More detailed examples using these same numbers are shown in 7.2 and 7.3

below. 7.2 L2V
. o 1) FHLRAFERE. ARG R K ONRHIR AR
7.2 Examples Without Normalization I DA T, TR T OB HEFREIC 5> TRD ZoD Z L—TF 12530 B, B2, 20104518 75455 A 0

1) Early Return Index, One-Year Return Rate and Long-Term Return Rate BEAICIE. SRS, M7.2-1 \RT LTS bhn 5,
In a given reporting month, all returns are divided into three groups according to —FHIR G 0 20094F7 H1H 7520101 H31H £ COMICHAT SN =y MO,
when they were shipped. For example, for the reporting month of January 2010, —AERE S, : 20084E7 A1 H 75200946 H30H £ COMICHAM T SN2 = M5 O,
returns are divided into the following groups as illustrated in Figure 7.2-1. —RHNRE : 20084E7H1H K EHCHfT Sl =y F b DR
— Early Returns from units shipped in the period from July 1, 2009, through

January 31, 2010. 2009

. . . ] 2010

— One-Year Returns from units shipped in the period from July 1, 2008 through

June 30, 2009. 1A |2 |37 |44 |54 |64 |7/ |84 |94 |10 |11A |127 | 1A
— Long-Term Returns from units shipped prior to July 1, 2008.

GREpIET A A

2009 2010

JAN |[FEB |[MAR |[APR [MAY [JUN |JuL |AUG |[SEP [OCT [NOV |DEC [JAN

One-Year Returns Early Returns 2007 2008

2007 |2008

DEC |[JAN |[FEB |MAR [APR |[MAY [JUN |JUL |AUG [SEP |[OCT [NOV |DEC 12/ 14|24 |34 |44 |5H |64 |74 |84 |97 | 104 | 114 | 124

Long-Term Returns One-Year Returns ] ﬁF'EJ)i o

AIX oo A 1X oo
Figure 7.2-1 Shipping Date Groups for Computing Return Rates
X7.2-1 BEEHEDOHOHFR I N—T
Version 1.4 Copyright 2012 QuEST Forum FR Examples Version 1.4 Copyright 2012 QUEST Forum FR Examples
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Table 7.2-2 Example Returns
Returns from Shipment Population by Month Received
Shipment|Number | Jan | Feb | Mar | Apr | May | Jun | Jul | Aug | Sep | Oct | Nov | Dec
Maonth Shipped |2010|2010|2010]|2010({2010|2010)|2010{2010]|2010(2010[{2010]|2010
Jun-08 & 30000 39| 44| 42| 46| 31| 35| 48 36| 46| 41 32| 30
before
Jul-08 8253 22 g9 11 121 11 10 7| 10 8 15 18 5
Aug-08 92431 11 11 14 12 19 15 13 1 16 100 13| 21
Sep-08 9261 17y 16§ 17 12| 16| 16| 17 7160 11 121 17
Cct-08 9721 190 133 21 150 17| 11 14| 19) 16| 18] 17| 13
Nov-08| 10131 16| a8y 15 14y 21} 28 17| 17| 19 13| 14 20
Dec-08| 10140Q 24) 16 17} 220 120 19y 17| 15 24| 14| 15/ 14
Jan-09 62631 11 11 7 9 9 e | 9] 13 5] 3 6 3
Feb-09 6436 7 g 8] 11] 10 8 5 5 3l 14 7 2]
Mar-09 7244] 14 15 12 8] 100 15 4 12 7 9 5 12
Apr-09 7275 10 gy 14] 10 9 BI 10 a6l 12 11 11 10
May-09 7396 6] 11 120 11) 16 af 13] 18 gl 13 10 3
Jun-09 8263 6] 13] 129 18] 11 7 gl 12] 141 13 7l 13
Jul-09 8833 14 129 14 12 12} 14 14] 151 11 100 11 8
Aug-09 8954] 16 6] 14 17} 14] 14) 11 14| 121 12 8] 13
Sep-09 9388)] 20Q 18] 151 18] 16 6l 12 191 12 6] 160 11
Oct-09 9818 39 24] 18 7l 15 15 17} 18] 13 6] 19 9
Nov-09 9ra7)] 36] 26Q 24y 23] 12} 13 6l 13 9 9] 20 12
Dec-09| 10528] 23] 30fQ 200 223 250 158 15| 15) 18] 12} 18 11
Jan-10| 10644 5 33] 23] 251 22y 30] 18] 151 14| 193 14 19
Feb-10| 11321 1 31| 23] 27) 24 24] 11 13 22 11 16
Mar-10| 11332 5 27 26] 200 291 38] 17 14| 19 12
Apr-10( 11674 2] 33 28] 26] 26 16| 193 19] 12
May-10[ 12151 4 27 271 28] 31 18] 13 24
Jun-10| 12460 1 311 26] 28] 26] 221 15
Jul-10f 13494 1 351 25) 32 35] 16
Aug-10{ 13670 51 33] 250 28] 21
Sep-10{ 13933 41 30} 23] 32
Cct-10{ 13725 41 34] 22
Nov-10| 14467 3] 36
Dec-10| 14905 4
Total Returns | 386 335| 366| a74| 298| 397| 414| 445 449 440| 476| 463
Received In Month:

Version 1.4 Copyright 2012 QuEST Forum
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F7.2-13R 545

n5.)
201042 D A B D A LD & DI L

HifRF H Hif 2 14 | 2H | 38 | 44 | 5H | 6 | 7H | 84 | 98 | 10A | 11H | 12H
0846H £ T | 30000 39 | 44 | 42 46 31 35 48 36 | 46 41 32 30
0847 H 8253 22 9 11 12 11 10 7 10 8 15 16 5

0848 A 9243 11 11 14 12 19 15 13 1 16 10 13 21
0849 /1 9261 17 16 17 12 16 16 17 7 16 11 12 17
08410 9721 19 13 21 15 17 11 14 19 16 18 17 13
08411 10131 16 8 15 14 21 28 17 17 19 13 14 20
08412 10140 24 16 17 22 12 19 17 15 24 14 15 14
09414 6263 11 11 7 9 9 9 9 13 6 3 6 3

0942 H 6436 7 9 8 11 10 8 5 5 3 14 7 9

0943 H 7244 14 15 12 8 10 15 4 12 7 9 5 12
0944 A 7275 10 9 14 10 9 8 10 6 12 11 11 10
0945 /i 7396 6 11 12 11 16 9 13 16 8 13 10 3

0946 A 8263 6 13 12 16 11 7 9 12 14 13 7 13
094:7H 8833 14 12 14 12 12 14 14 15 11 10 11 8

094:8H 8954 16 6 14 17 14 14 11 14 12 12 8 13
09494 9368 20 18 15 18 16 6 12 19 12 6 16 11
094104 9818 39 24 18 7 15 15 17 16 13 6 19 9

094114 9787 36 26 24 23 12 13 6 13 9 9 20 12
09412 10528 23 30 20 22 25 15 15 15 16 12 16 11
104E1A 10644 5 33 23 25 22 30 18 15 14 19 14 19
1042 H 11321 1 31 23 27 24 24 11 13 22 11 16
1043 H 11332 5 27 26 20 29 38 17 14 19 12
104F4 A 11674 2 33 28 26 26 16 19 19 12
104F5 H 12151 4 27 27 28 31 18 13 24
1046 A 12460 1 31 26 28 26 22 15
1047 A 13494 1 35 25 32 35 16
1048 A 13670 5 33 25 28 21
1049 H 13933 4 30 23 32
104-10H 13725 4 34 22
104F11H 14467 3 36
104124 14905 4

AR 355 | 335 | 366 | 374 | 398 | 397 | 414 | 445 | 449 | 449 | 476 | 463

Version 1.4 Copyright 2012 QUEST

(FRIE : [FUCClidTable 7.2-2 L 72 > TW D M3, 7.2-LIFFigure’2 DT, ZDOFNT.2-1272 b L Eb
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Table 7.2-2 shows shipments for July 2008 through December 2010, plus all
shipments prior to July 2008. In addition, it shows returns for January 2010
through December 2010, by month of shipment as determined by shipping
records. The highlighted first column of data in Table 7.2-2 shows the month of
shipment for the 355 returns received during January 2010. For example, in
January 2010, 22 returns were received from the 8253 units shipped in July 2008
and 11 returns were received from the 9243 units shipped in August 2008.

The Early Return Index, ERI, for the month of January 2010, is calculated as
follows. The field population is determined by adding the shipment quantities
shown on the left side of Table 7.2-2 for the months of July 2009 through
December 2009. Therefore the total shipments are

FRsi = 8833+8954+9368+9818+9787+10528 = 57,288.

The number of returned units is the total returned from July 2009 through
January 2010. Therefore

FRri = 14+16+20+39+36+23+5 = 153.

Early Returns of units shipped Jul-09 through Jan-10
Return = 100x12x
Index Total Shipments for Jul-09 through Dec-09

= 100 x 12 x FRri/FRsI
100 x 12 x 153/57288
= 3.20%
Note that the returns of units shipped in January are included to count all returns
during the month and to be alerted to any developing problems. However,

shipments during January are excluded because the majority of units shipped in
January will not have been placed in operation.

The One-Year Return Rate, YRR, for January 2010, is calculated as follows. The
field population is determined by adding the shipment quantities shown on the
left side of Table 7.2-2 for the months of July 2008 through June 2009. Therefore
the total shipments are

FRsy = 8253+9243+9261+9721+10131+10140+
6263+6436+7244+7275+7396+8263 = 99626.

The number of returned units is the total returned from units shipped in July 2008
through June 2009. Therefore

FRry = 22+11+17+19+16+24+11+7+14+10+6+6 = 163.

FR Examples
7-4
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F:7.2-11%. 20084E7 A 7 5H20104E12H £ TOHATEZ/R L TW5D, ZHUT20084E7H L v pio iz iz <Hh 5,
S 5T, 20104F1A 7252010412 H F TOR G Z Hfitékis Sl L7 A Z &1 Th 5, £7.2-104
B LEgEpoT —2 1%, 20104F1 8 PS5 TE - 723552 = v h Ol 5h & A Bk L= o Th 5,
B 21, 201051 1BV TIE, 200847 A ICHifAF L728,2531 = /b MD22r =y DM H Y . 200848
ACHff L729,2432 =y I b D11l =y FOEMNH 5, 2010FE1LA O FHEMIEZE (ERD X, RO X9
FHET 5,

HHCH D=y ME, B7.2-1OEMNZ/R L7Z200947 H 72520094121 £ TOHME TR E L0 T, BHHAT
BEIRD L 127D,

FRsi = 8,833+8,954+9,368+9,818+9,787+10,528 = 57,288

I

FRHR L0, 20094E7 H 725 20104E1 A £ TOIRMSE
FRri = 14+16+20+39+36+23+5 = 153

+THDLHDOT, RO LI D,

paill

20094E7 A 7> 5201041 H £ TO Hf H DI L5k
BRI =100 x 12 x

200947 A 7> 52009412 4 &£ T O Hififia £k
=100 x 12 x FRri/FRsi
=100 x 12 x 153/57,288
=3.20%

LHICH L7z2=y POEGIZ, £OH DO TR TOERGEEFERT D720, (OB ET HEH
THEDITIE, EATRETHLILICHETDHZ L, L, FEEIZIE, 1A Ol s Ziicxt4 255
WEBRIL STV D, ZORRE, 1AICHENTZIZEAEDZ =y M, FEEEIL, BRI TH R0V
LThD,
20104F1H OFRLR G (YRR) 1, RO LI IZEHET S, mHlch 2=y ML, £7.2-10LEMI RS
200847 H 775200946 H £ TO MM TR E 2D T, FERHAHEITRDO L 12/ 5D,

FRsy = 8,253+9,243+9,261+9,721+10,131+10,140+

6,263+6,436+7,244+7,275+7,396+8,263 = 99,626

IR ELEE, 200847 H 725200946 H £ TOHM S MO D=y MELBOEETH S,
iz
FRry = 22+11+17+19+16+24+11+7+14+10+6+6 = 163

Forum FR Examples
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One-Year Returns of units shipped Jul-08 through Jun-09
Return = 100x 12 x
Rate Total Shipments for Jul-08 through Jun-09

= 100 x 12 x FRry/FRsy
= 100x 12 x 163/99626
= 1.96%

The Long Term Return Rate, LTR, for January 2010, is calculated as follows.
The field population is determined by summing the shipment quantities shown on
the left side of Table 7.2-2 for the months prior to July 2008. Therefore the total
shipments are

FRst = 30,000.

The number of returned units is the total returned from units shipped prior to July
2008. Therefore

FRrt = 39.
Long-Term Returns from shipments prior to Jul-08
Return = 100x12x
Rate Total Shipments prior to Jul-08

= 100 x 12 x FRrt/FRst
100 x 12 x 39/30000
= 1.56%

Calculating the return rates for all months in 2010 gives

Month Early Return One-Year Long-Term
in 2010 Index Return Rate Return Rate
January 3.20% 1.96% 1.56%
February 2.80% 1.72% 1.66%
March 2.66% 1.96% 1.69%
April 2.44% 1.96% 1.73%
May 2.74% 1.86% 1.70%
June 2.57% 1.65% 1.80%
July 2.69% 1.50% 1.84%
August 2.80% 1.81% 1.52%
September 2.47% 1.55% 1.86%
October 2.39% 1.55% 1.66%
November 2.39% 1.73% 1.56%
December 2.14% 1.57% 1.55%

2) Field Replaceable Unit (FRU) Returns Data Table

The data reported to the TL 9000 Administrator are shown in Table 7.2-3.

Version 1.4 Copyright 2012 QuEST Forum FR Examples
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200847 A 75200946 H £ TO Hifif 2> b D ih kL
DAL =100 x12 x

200847 H 7> 520094E6 H £ T Hifiike %k
=100 x 12 x FRry/FRsy
=100 x 12 x 163/99,626
=1.96%
201041 H O B SHE (LTR) 1%, RO LD IZFHET S, TiHlch 2=y MIx, £7.2-10LMIZR L TW
% 200846 H £ COHMTHI-FE 5D T, EMHAREIZIKRD X 512725,

FRst = 30, 000

R EIE, 20084E6 H £ TICHfT S nc2=y FrbORm=2I=y NMITH D,

iz
FRrt =39

200846 A £ CTO B DI S

E#IEHE =100 x 12 x
20084E6 H £ T H k%L
=100 x 12 x FRrt/FRst
=100 x 12 x 39/30,000
=1.56%

2010E DT RTHOH DORGHFREHETHE, ROL D,

2010 4 FHR MR FRIE MR RIR MR
1A 3.20% 1.96% 1.56%
2 A 2.80% 1.72% 1.66%
3 A 2.66% 1.96% 1.69%
4 H 2.44% 1.96% 1.73%
5 2.74% 1.86% 1.70%
6 A 2.57% 1.65% 1.80%
7 H 2.69% 1.50% 1.84%
8 H 2.80% 1.81% 1.52%
9 A 2.47% 1.55% 1.86%
10 H 2.39% 1.55% 1.66%
11 A 2.39% 1.73% 1.56%
12 A 2.14% 1.57% 1.55%

TL Q000 B HE ~HET 5T — X &, £T7.2-21T1-7,

Version 1.4 Copyright 2012 QUEST Forum FR Examples
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#7.2-2 #]1 —FRT — ¥ 5+

Table 7.2-3 Example 1 — FR Data Table Report (GRYE : JR3CTldTable 7.2-3L 72 > TWAH DS, ZORMNT.2-2IZ725 L Bbihvs,)
(VIR fiE
Identifier Value Year 2010
Year 2010 Month 01
Month 01

Product Category 1.1 Product Category 1.1

MeasurementlD FR Measurement D FR
FRa 12 FRa 12
FRs 99626 FRs 99,626
FRri 153 FRri 153
FRF}’ 163 FRry 163
FRrt 39
FRsi 57288 PRIt 39
FRst 30000 Frsy 99,626
FRst 30,000
7.3 Examples With Normalization
Example 7.3-1 — Normalized One-Year Return Rate — DSL 7.3 HE L4
An organization makes an HDSL transmission system consisting of the following #il 7.3-1 Bir(LFERRME — DSL
roducts: — - .
P _ , , ) , ML, OB G72 HHDSURE Y AT A& B LTV D,
i) HDSL Central Office Transceiver Unit (HTU-C) — One HTU-C is required per
HDSL line deployed. i) HDSLHULMR kT v v—s=v k (HTU-C) —HDSL 1[E#47- 0 1>DOHTU-C B4 E L7705,
ii) HDSL Remote Transceiver Unit (HTU-R) — One HTU-R is required per HDSL _ ) \
||ne deployed ||) HDSLU:E”" }\ }‘7:/‘:/’4/‘:1‘:7 }‘ (HTU—R) _HDSL 1@%7@%7’3@10@HTU—R 75‘”\%&@50
iif) IHDSdL Fx’langg Extender (HRE) — Zero to two HREs may be used per HDSL iii) HDSLH IR (HRE) —HDSL 1[4 7- 0 07152 5>OHRE WL & 722,
ine deployed.
iv) HDSL Fuse / Alarm Controller (HFAC) — One HFAC is required per HDSL ivV) HDSLt = —X/7 7 —L =z br—7 (HFAC) —HDSL1Y = /v 747V 1>DOHFAC NRhEL 725, Z
shelf, which may be used to deploy up to 13 HDSL lines. AU, mT13 OHDSL FIffICEH ESNA Z &b d D,
v) HDSL Central Office Terminal Controller (HCOT-CTL) — One HCOT-CTL can N . _ . R e
control up to 100 shelves. V) HDSLH L EmF=2 v ha—> (HCOT—CTL) —12>20OHCOT-CTL 725, 100 V:E/I/7if%”1§nﬂﬁbo
vi) HDSL E220 Shelf — One shelf can accommodate up to 13 HDSL transceiver vi) HDSLE 220 > =/L 7 —15®D3 =/L 73, HDSL kT v i —_z=v 13 fil £ TILHATRE,
units.
Only products i) through v) are field replaceable units. )~v) ORI AEEEZ TREL = F Th D,
To calculate the NYR, returns are aggregated for the entire HDSL product NYR ZFHRT 57201213, KamE A 3~ THDSL R CHEE L. B REIZ o mIcEN T 5,
category and the normalizing factor is applied to the category as a whole: i) HDSL .l i b Ty —_z=vy k (HTU-C)
i) HDSL Central Office Transceiver Unit (HTU-C) WEHE Ay H) (BT 2R 50
Returns in the reporting period (one month): 50 EHENM I (1 F) o : 100,000
Shipments in the basis period (one year): 100,000 i) HDSL VE—hF hF>r i —_z=v b (HTU-R)
i) HDSL Remote Transceiver Unit (HTU-R) WIS T DI 40
Returns in the reporting period: 40 L YE AT IR O A B 100,000
Shipments in the basis period: 100,000 i) HDSL Higfiif i &
iii) HDSL Range Extender WEHIRIC I T 215 5
Returns in the reporting period: 5 FevE TR R oo At - 50,000
Shipments in the basis period: 50,000 iv) HDSL b 2 —R/7 F—Ah=ay ha—3
iv) HDSL Fuse/Alarm Controller WAEHIRIC BT 250K 3
Returns in the reporting period: 3 LV AR o H e 10,000
Shipments in the basis period: 10,000
Version 1.4 Copyright 2012 QuEST Forum FR Examples Version 1.4 Copyright 2012 QUEST Forum FR Examples
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v) HDSL Central Office Terminal Controller
Returns in the reporting period: 0
Shipments in the basis period: 500

The normalizing factor for xDSL products is the number of DSL lines deployed.
Since one HTU-C and one HTU-R are required to deploy a single HDSL line, the
total number of lines deployed in the basis period is

FRs =100,000.

The number of returns from the units shipped in the One-Year basis-shipping
period is

FRry =50+40+5+ 3+ 0 =298.
The normalized One-Year Return Rate is

NYR =12 x FRry/FRs = 12 x 98/100.000
= 0.012 returns / year / DSL line.

Example 7.3-2 — Normalized One-Year Return Rate Terminations
An organization makes a local switch consisting of the following products:

i)y POTS line card — Each POTS line card has 16 POTS lines.
ii) Trunk line card — Each trunk line card has four trunk lines.

iii) ISDN line card — Each ISDN line card has eight basic rate ISDN
lines, each of which has two terminations. Each ISDN line card has
an identical card providing protection for the first card.

iv) Miscellaneous circuit packs — Besides the previous three circuit
packs there are 30 other pack codes. They do not supply termination
service, but are needed to support the office.

During the basis period for the YRR and NYR, this organization installed one
switch with the line cards and other circuit packs listed below. To calculate the
YRR and NYR, returns are aggregated for the entire switch and the normalizing
factor is applied to the category as a whole.

iy POTS Line Card
Returns in the reporting period (one month): 10
Shipments in the basis period (one year): 1.000

iiy Trunk Line Card
Returns in the reporting period: 5
Shipments in the basis period: 500

FR Examples
7-7

V) HDSL Hl @i s = hu—3

WA HIFIC I T % IR0 0
FLAE AT ] O T 2K 500

xDSL 5O IR UELARENE, BlE L7=DSL B CThH 5, HTU-C EHTU-R & 73159 -OHDSL 1[E#3 % A& 4
DD F T FEEH AT ICELE L 2B ARHE, RO X 5127 D,

FRs = 100,000

ERFEEHFTIRICHA L2 =y R ORMEIE, RO X H127%5,

FRry = 50+40+5+3+0 = 98

BB LAERDR =T, RO X D125,

NYR = 12xFRry/FRs = 12x98/100,000

=0.012 E5HHU/FIDSL [alfR

Bl 7.3-2 HELERRSE — T
FARIT. OB SRERE ST N AR 2 Bl LT 5,

i)
i)
ii)

POTS [El# 5 — K —4POTS [al#t 7 — FiZiX, POTS 16 [E#EAH 5,

Mo 7B —RF—=% v T 7RI — RiZiE, P70 74 BIRERH D,

ISDN 7 A > #— R—4%ISDN T A > F— RiZiL, EAEHEDISDN 8 EI#ENH Y | TN DDl
TEH-oTWD, %ZISDN A4 I —FRiZ, 1 BEOI— RIZELTHHEHAOR —OI— K2 H > T
Do
ZDOMAFERIFR S r— T —RiiO3 B/ 7 —U Oz, 30 FEO Xy r—URH 5, THIE, b
T —E R LW, REETH0IINETH D,

YRR K UINYR ORMEHI R, Z OfiEIE. RICHITZEFRD — FEOZFOMOEFR Sy 77— Offniz—o
DR Z A A F—/L LT, YRR KUNYR %#iHET5H7-DI0I1E, IMEILZE DA RMIZ OV THER L,
KR ET e oR pEE 2R E L CTEHT 5,

Version 1.4 Copyright 2012 QUEST

POTS g7 — K

REEIR (L H) 2B IR E 10
FAEH I (1) ok 1,000
rNZ ool — R
WEHAMIC BT DR A 5
FEHEH far 1 o 2K 500

Forum FR Examples
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iii) ISDN Line Card

Returns in the reporting period: 2

Shipments in the basis period: 500

Active cards with 1:1 protection: 250
iv) Miscellaneous Circuit Packs

Returns in the reporting period: 2

Shipments in the basis period: 500

The normalizing factor for Switching and Routing System Elements is one
termination. The total of all terminations for this switch is

FRs =(1,000x 16) + (500 x4) + (250 x 8 x2) = 22,000.
The number for FRUs shipped in the NYR basis-shipping period is
FRsy = 1,000 + 500 + 500 + 500 = 2,500
The number of returns is

FRry=10+5+2+2=19

The Normalized One-Year Return Rate for the switch circuit pack shipments is

NYR =12 x FRry/FRs = 12 x 19/22,000

= 0.010364 returns / year / termination.
The One-Year Return Rate for the switch is

YRR =100 x 12 x FRry/FRsy = 100 x 12 x 19/2500

=9.12%.

The data reported to the TL 9000 Administrator are shown in Table 7.3-1. For
completeness, the report includes examples of ERI| and LTR data, which were
not discussed in the example.
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Table 7.3-1 FR Data Table Report
Identifier Value
Year 2010
Month 01

Product Category 1.1
Measurement|D FR

FRa 12
FRs 22000
FRri 14
FRry 18
FRrt 30
FRsi 1200
FRsy 2250
FRst 4500

Example 7.3-3 — Normalized One-Year Return Rate DS1
The following example demonstrates the calculation of NPRs for Product

Category 3.2.1.2 Digital Cross Connects where the normalization factor is DS1s.

Definitions

Please refer to the Glossary for definitions for NYR, Afactor, FRry, FRS, and
NU.

Example

An organization provides a digital cross connect system consisting of the
following:

1. 28 D51 Ports
2. 256 DS3 Ports

During the basis period for the Normalized One-Year Return Rate (NYR) this
organization installed twenty systems. To calculate the NYR, returns are
aggregated for the entire system and the normalizing factor is applied to the
overall usable port connections as a whole.

= Normalization units (NUs) per system = 28 + 256"28 = 7,196

MNote: This calculation determines the normalization units for the total number of DS1 Ports
=  Total NUs =20 " 7,196 = 143,920
= FRU returns in the reporting calendar month = 22

NYR Calculation:
= Afactor =12

= FRry=22
= FRS = 143,920

Field Return (FR) Examples

#F7.3-1FR F—FZ#H|iEHR

T &
Year 2010
Month 01
Product Category 11
MeasurementID FR
FRa 12
FRs 22,000
FRri 14
FRry 19
FRrt 30
FRsi 1,200
FRsy 2,500
FRst 4,500

# 7.3-3 FEFEMERMHE — DS1
BIUE(LAR S DS1 Th A RLH 3.21.2 7 4 X N7 0 X237 h® NPRs OEH|% UL FICHT 5,

R

NYR,Afactor,FRry,FRs, 2 () NU D EF 2D T3 REfME

gﬁ\(\
\\}ﬁ

EZWROZ L,
1)
LML, TROMKEOT 4 PH NI AaRry N AT Aaffg L Tnd,

1. 28fH» DS1 &R— k
2. 256 ffld DS3 R— k

BUEALAR R AR (NYR) O FEE I RTINS . Z Of#kIZ, 20 2 AT L&A A h—/L LTz, NYR ZEtHET 5720

BY AT DOV TR ER SHv, BRI R TOMA TR AR — MERIZE > T, 2FICEH S5,

o VAT AYT Y OHIMELEAIE(NUS) = 28+256 X 28 = 7,196
HRL . ZOFRICE Y DS A — F OREIZ DV THIEEL BN EDS R E D,

o HYE(LHAIOfREL =20X7,196 = 143,920

« WETIEHORREZ R =y FORGLE(FRU) = 22

NYR D
» Afactor=12
* FRry=22
* FRs =143,920
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NYR = 12 X FRry/FRS =12 X (22/143,820) = 12 X 0.000152863 = 0.00183435
returns/ DS1/ Year

7.4 Estimation of Equivalent Number of Normalization Units

a) Problem

The normalization factor for the Normalized One-Year Return Rate (NYR) is the
number of normalization units that fall within the One-Year Return Rate (YRR)
shipment period. This can lead to a problem for mature products. At some point
in the life cycle of many products, the new hardware being shipped is used to fill
out or expand existing systems and not to create new systems or capacity
growth. This can lead to a situation where the product has a substantial YRR
Field Replaceable Unit (FRU) population, but few or even no new systems or
capacity shipped in the YRR period. This then leads to a greatly distorted
normalization factor. It could even become non-reportable if it was zero. The
following provides a method to estimate an equivalent FRs for Network Elements
of capacity-based normalization using the YRR FRU population. This in turn
allows the calculation of a reasonable and comparable NYR figure.

b) Solution

This method yields an estimated “"equivalent” number of Normalization Units for
reporting as the NYR normalization factor (FRs) for products subject to the
problem described above. The estimate is based on other TL 9000 data
elements. These elements are the number of FRU's in the Early Return Index
(ERI), YRR and Long Term Return (LTR) populations and the total number of
NEs that make up this overall population. The TL 9000 identifier terms for these
values are FRsi (ERI FRUs), FRsy (YRR FRUs), FRst (LTR FRUs), and NFRs
(Normalization Units used for NPR Measurement). The estimate itself is straight
forward. Examples of its use for two cases. network element based normalization
and capacity based normalization, follow.

For products where the normalization unit is network elements, first the average
number of FRUs per network element is calculated. Then this average is applied
to just the YRR FRU population to come up with the equivalent number of YRR
network elements that quantity of FRUs represents. The equations for this are:

# of FRU’s per NE = (FRsi + FRsy + FRst) / NPRs
Equivalent NEs = (FRsy) / (# of FRU's per NE) = FRs

If the population of network elements being tracked in the NPR measurement is
different than the population being tracked by the FRU Return measures, then
NPRs will need to be adjusted to account for the total number of network

FR Examples
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elements included in the overall FR population. One example of this would be
where a customer does not return units to the organization for repair, but does
send in problem reports.

This technique can also be applied when the NYR normalization unit is “system”.
It can be used for those product categories where the NYR normalization unit is
“network element” or “system”. It can only be used on mature products where
new units being shipped are primarily going into existing systems.

Example 7.4-1

ERI, YRR, and LTR FRU populations are 5,000 (FRsi), 10,000 (FRsy) and
185,000 (FRst) units respectively. The total count for the network elements
included in the FR population is 500 (NPRs). The number of FRUs per NE is
therefore

# of FRUs per NE = (5000+10000+185000)/500 = 400 FRUs/NE

The equivalent number of NEs that may be used for FRs is:

Equivalent NEs = 10000/400 = 25 NEs (FRs)

To get the average number of FRUs per NU for products that use capacity-based
normalization units (e.g., terminations, OC-1, DSL). the total number of FRUs is
calculated as before and divided by the sum of the rated capacities of each FRU
shipped over the life of the product. This number when divided into the number of
FRUs shipped over the basis shipping period for the reporting month (FRsy)
results in an estimated value of FRs for use in the NYR calculation. The
Organization should already know the capacities of each FRU to perform the FRs
calculation for those product categories.

# of FRUs Per NU = (FRsi + FRsy + FRst) / (Total NU Capacity of Shipped
FRUs)

Estimated FRs = (FRsy) / (# of FRUs Per NU)

Example 7.4-2

ERI, YRR, and LTR FRU populations are 500 (FRsi), 2,500 (FRsy) and 297,000
(FRst) units respectively. The total count for the capacity based normalization
units included in the FR population is 3,000,000 (use either the sum of the rated
capacities of each FRU shipped over the life of the product or SOs for that
month). The number of FRUs per NU is therefore

# of FRUs per NU = (500+2500+297000)/3000000 = 0.10 FRUs/NU

The equivalent number of NUs that may be used for FRs is:
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Equivalent NEs = 2500/0.10 = 25000 NEs (FRs)

7.5 Accounting for Decommissioned Units

As noted in rule 7.1.4 ¢) 6), the organization is required to exclude from the FR
measurement units that have been taken out of service. This is important to keep
the FR calculations as accurate as possible. Since decommissioned products
most often occur in the LTR segment of the populations, the following example
shows how to account for the impact on LTR. The same methodology would
apply to any of the FR measures.

Using the data from the earlier LTR example, let's suppose that a customer has
notified the organization that it is replacing an older product with the latest
generation equipment. As of January 2010, 3000 units shipped prior to eighteen
months ago have been removed from the field and decommissioned. In January
2010 there were also three earlier returns from this population that had been
received in the month. The LTR data for the month would then need to be
adjusted to reflect these quantities as shown in the table and calculation below.

Table 7.5-1 LTR Data for January 2010

LTR — LTR — Total — In
Shipped Decommissioned Field
Returns 39 3 36
Population 30,000 3,000 27.000
Long-Term Returns from shipments prior to Jul-08
Return = 100x12x
Rate Total Shipments prior to Jul-08

= 100 x 12 x FRrt/FRst
= 100x 12 x 36/27000
= 1.33%
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